a(0 @) (raqd)

SICEWATL

o p/p.)

=
<

1072

Y P

O

E

1

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

=
<

1

DQM_CKF_XiMinusNOPU_base
DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch0O

=
<

13f---- Aol

1:— ----- 1 .‘.0_-‘%0--0 T-+- -+
= 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

L..... [ S b I

H
S
L

10—l LLULLULNL AL L) 0
[ 1] :
C o1l :
1P----- 4z +I- L
[ FEAPY :
I E i]: :

0.95 . . +

oo a,) (cm)

Ratio

z

107}

Loeeenn F I
: 4+
. -
-
) N
Al o il
L. 5 5
o 4 |+
11 8§ KL R CERETEREE

-

1



	Contents
	Page 1


